



St. Louis County, Minnesota

Date of Report: 9/18/2025 3:22:23 PM

**General Details** 

 Parcel ID:
 565-0010-03463

 Document:
 Abstract - 01454276

**Document Date:** 09/26/2022

Legal Description Details

Plat Name: WAASA

Section Township Range Lot Block

22 60 14 - -

**Description:** South 244.30 feet of West 538.60 feet of NW1/4 of NW1/4, as defined by a line 244.30 feet from and parallel to the

south line of said NW1/4 of NW1/4 and by a line 538.60 feet from and parallel to the west line of said NW1/4 of NW1/4 AND West 538.60 feet of North 148.00 feet of West 588.60 feet of SW1/4 of NW1/4, as defined by a line 538.60 feet from and parallel to the west line of said SW1/4 of NW1/4 and by a line 148.00 feet from and parallel to

the north line of said SW1/4 of NW1/4.

**Taxpayer Details** 

Taxpayer Name POPPEMA JEFFREY & DAWN

and Address: 7644 MATTSON RD

EMBARRASS MN 55732

Owner Details

Owner Name POPPEMA DAWN
Owner Name POPPEMA JEFFREY

**Payable 2025 Tax Summary** 

2025 - Net Tax \$681.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$766.00

#### Current Tax Due (as of 9/17/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$383.00	2025 - 2nd Half Tax	\$383.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$383.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$383.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$383.00	2025 - Total Due	\$383.00	

**Parcel Details** 

Property Address: 7644 MATTSON RD, EMBARRASS MN

School District: 2142
Tax Increment District: -

Property/Homesteader: POPPEMA, JEFFREY S & DAWN R

#### Assessment Details (2025 Payable 2026)

Class Code	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
(Legend) 201	1 - Owner Homestead (100.00% total)	\$31,000	\$188,800	\$219,800	\$0	\$0	-
	Total:	\$31,000	\$188,800	\$219,800	\$0	\$0	1932





St. Louis County, Minnesota

Date of Report: 9/18/2025 3:22:23 PM

**Land Details** 

Deeded Acres: 4.85 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

tps://apps.stlouiscountymn.					ions, please email Property	Tax@stlouiscountymn.gov.
		Improv	rement 1	Details (SFD)		
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
HOUSE	0	1,22	24	1,404	AVG Quality / 372 Ft <sup>2</sup>	1S+ - 1+ STORY
Segment	Story	Width	Length	Area	Founda	ition
BAS	1	14	36	504	BASEM	ENT
BAS	1.2	12	20	240	BASEM	ENT
BAS	1.2	20	24	480	LOW BASE	EMENT
DK	0	7	8	56	POST ON G	ROUND
DK	0	8	16	128	POST ON G	ROUND
Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC
1.0 BATH	-		-		0	CENTRAL, GAS
		Impro	vement 2	Details (DG)		
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.

	improvement 2 Details (DG)									
I	mprovement Type	ovement Type Year Built		or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.			
	GARAGE	1994		8	768	-	DETACHED			
	Segment	Story	Width	Length	Area	Foundation				
	BAS	1	24	32	768	FLOATING SLAB				

			improve	ement 3 D	etalis (SAUNA)		
ı	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.
	SAUNA	0	28	5	285	-	-
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	1	15	19	285	FLOATING	SLAB

Improvement 4 Details (BABBITT DG)									
Improvement Type Year Built		Main Floor Ft <sup>2</sup>		Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.			
GARAGE	0	240		240	-	DETACHED			
Segment	Story	Width	Length	Area	Foundation				
BAS	1	12	20	240	POST ON GROUND				
	GARAGE Segment	provement Type Year Built GARAGE 0 Segment Story	provement Type Year Built Main Flor GARAGE 0 240 Segment Story Width	provement Type Year Built Main Floor Ft <sup>2</sup> GARAGE 0 240 Segment Story Width Length	provement Type Year Built Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> GARAGE 0 240 240 Segment Story Width Length Area	provement Type Year Built Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> Basement Finish  GARAGE 0 240 240 -  Segment Story Width Length Area Foundation			

	Improvement 5 Details (SM QUONSET)									
li	mprovement Type	Year Built	Main Floor Ft <sup>2</sup>		Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.			
S	ORAGE BUILDING	0	120		120	-	=			
	Segment	Story	Width	Length	Area	Foundat	ion			
	BAS	1	10	12	120	POST ON GF	ROUND			





St. Louis County, Minnesota

Date of Report: 9/18/2025 3:22:23 PM

			Impro	vement 6 I	Details (DG	<b>)</b>				
ı,	mprovement Typ	e Year Built	-		Gross Area Ft	2	sement Finish	Style C	ode & Desc.	
GARAGE 0		28		280		-	,	ACHED		
	Segme			Length			Founda		7.01.12.0	
	BAS	•	14	_	280		POST ON (			
			Image							
	mprovement Typ	e Year Built	-		Details (ST) Bross Area Ft		sement Finish	Style C	ode & Desc.	
	TORAGE BUILDIN		14		143	Das	-	Style C	oue a Desc.	
	Segme			Length			Founda	ation		
	BAS	1		13			POST ON (			
L										
	mprovement Typ	e Year Built	-		Details (ST) Gross Area Ft		sement Finish	Style C	ode & Desc.	
	mprovement Typ FORAGE BUILDIN		Maiii Fi		156	Das	ement rinish	Style C	oue a Desc.	
	Segme			<del>-</del>	Area		Founda	ation		
	BAS	•			156		POST ON C			
		·								
	manara vamant Tvn	e Year Built	-		Details (ST)		amant Finiah	Stude C	ada 9 Daga	
	mprovement Typ FORAGE BUILDIN		Wain Fit		Gross Area Ft <sup>2</sup>		Basement Finish Style Code & Do		ode & Desc.	
5	Segme					Foundation				
	BAS	•		11 18 198			POST ON GROUND			
		· .				2011				
	manara vamant Tvn	e Year Built	-		tails (Det. C Gross Area Ft	•	amant Finiah	Stude C	ode & Desc.	
"	mprovement Typ GARAGE	e rear Built 2024		780 780			Basement Finish Style Code & De - DETACHED			
	Segme			Width Length Area			Foundation			
	BAS		26	30	780					
	LT	1	_	30			_	_		
		<b>S</b>				tv Audite	\ <b>r</b>			
	•		ales Reported			ity Audito				
		le Date 0/2022	\$135,000 (T	Purchase I		vala )		251430		
	0.5	3/2022		ssessment	a multi parcel s	ale.)		201430		
		Class	A		i iistoi y		Def	Def		
		Code	Land	Bldg		Total	Land	Bldg	Net Tax	
	Year	(Legend)	EMV	EMV		EMV	EMV	EMV	Capacity	
202	24 Payable 2025	201	\$33,600	\$129,1		3162,700	\$0	\$0	-	
	-	Total	\$33,600	\$129,1		5162,700	\$0	\$0	1,310.00	
202	23 Payable 2024	201	\$29,300	\$107,2	200 \$	5136,500	\$0	\$0	-	
		Total	\$29,300	\$107,2	200 \$	136,500	\$0	\$0	1,117.00	
000	O Davidle 2005	201	\$29,300	\$98,10	00 \$	127,400	\$0	\$0	-	
202	22 Payable 2023	Total	\$29,300	\$98,10	00 \$	127,400	\$0	\$0	1,018.00	
		201	\$24,200	\$89,50	00 \$	5113,700	\$0	\$0	-	
202	21 Payable 2022	Total	\$24,200	\$89,50	00 \$	113,700	\$0	\$0	868.00	
			, ,	1		.,	7-2	7.		

3 of 4





St. Louis County, Minnesota

Date of Report: 9/18/2025 3:22:23 PM

Tax Detail History										
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV				
2024	\$795.00	\$85.00	\$880.00	\$23,974	\$87,715	\$111,689				
2023	\$761.00	\$85.00	\$846.00	\$23,406	\$78,364	\$101,770				
2022	\$735.00	\$85.00	\$820.00	\$18,471	\$68,312	\$86,783				

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.